Roll No:-
Sem-I11 Diploma Exam 2023 (Odd)
(Mechanical Engineering) (Theory)
[Time: 3 Hours] Mechanical Engineering Drawing (1625302-P) [Max. Marks: 70]

- All questions are compulsory. (e w2 1w 7))
- Marks are mentioned on the right side of each question. (s @t wsr % 31§ 311 sifera foma 7))

Group (A) (7w 1)

Q.1  Choose the most suitable answer from the following options. (1*20=20)
(waitareR Sudw foreheT 1 gaet fored]) :-
i. Foot step bearing is used to support!
(% = fomfr w1 3w T HUTRE T & foru fomam ST 7] )
(a) Horizontal shaft (b) Vertical shaft (c) Two shaft at small angle (d) All of these
(afast =) (3w =) (=7 =101 W 3T ATR) (3rs @+fY)
ii. Tail stock of a lathe machine is used to hold Job.
(S wefi % 2 ik Siter o foTe e g 21)
(@) Long (=) (b) Heavy (vt ) (c) Square (aer) (d) Small (s%)
iii.  parallel line development method is used for development of
(T e ferenfaa fafer st o= a1 forrfera s o foram Stmar 21)
(@) Prism (b) Cone (c) Pyramid (d) None of these
(o ¥ o) (s % fore ) (Frafirs 3% fora) (it & 7 )
iv. Hatching lines may be drawn at to the main outlines of the section as and when required.
(SATERIFATIIR T e % STed W@ T 2f=iT @ =t S 2 )
(a) 30° (b) 45° (c) 60° (d) All of these (3w @)
V. Tolerances are given to the parts
(arerrat # Srefg feam e )

(a) Because it is impossible to make perfect setting. (sshr @&t @fem HET TaRE 21)
(b) To reduce weight of component (staat =t s wre & forw)

(c) To reduce cost of component. (e #t Fima =ge & fore)

(d) To reduce amount of material (a&d ware & w4 TreH o for)

vi.  This is conical shaped recess around a hole, often used to receive a tapped screw head
(o= foog % =i 3T ¥i STHR T ST (Wreft TAM) BT & ST 3 30 TF T 1 TS0 T 21)

(@) Boss () (b) Spot Face (wdte & ) (c) Counter bore (F== &) (d) Counter sink. (s f=)
vii.  Drilling Jigs is used to
(fefe 5 =61 Sw=mT ¥ fopam ST 21)
(a) Hold the job (b) Guide the tool (c) Both (a) and (b) (d) None of these
(GIEEIREEY) (ger =1 e ) ((37) M () <) (57 & 1% 7ef)
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viii.  The function(s) of a jig is are
(S =1 =Bt BT 21)

(@) Holding (=fegm) (b) Locating (zrerfem) (c) Guiding (wsfém) (d) All of these (3 =)
iXx.  Screws used for power transmission should have
(wrfe oreor  SreEd wE 1 BT =TT
(@) Very fine thread (b) High efficiency (c) Low efficiency (d) Strong teeth.
(g W 7<) (3== zzga) (77 weram) (st <Fa)
X. pipe vice is mainly used by
(o T e ' ST ST fohaT STrer &)
(a) Fitter () (b) Plumber (=i ) (c) Welder (awex) (d) A1l of these (3wrs @)
Xi. The development of the lateral surface of a cylinder is a rectangle having one side equal to the of its
base circle and the other equal to its length...
(5T < T | T feRred AT @ SRt T R 310 SITUR S8 6 o SIS @ I U 36k TelTS o st &l )
(@) Circumference (uftf¥) (b) Area (g=wa) (c) Diameter (=) (d) Radius. (f=am)
xii.  pulleys are mounted on shaft by key.
(st o qeft =t % R Tefuq fora ST 21 )
(@) Sunk (&= ) (b) Round (vremmw) (c) Saddle (&==) (d) None of these (375 & =1E &)
xiii.  The development of lateral surface of a pyramid consists of a number of equal triangles in
contact.
(Frafire & ard wrae 1 wFoeh ATt @A st & wifeq g 21)
(a) Equilateral (wwarg) (b) Isosceles (mfsrg )  (c) Scalene (o) (d) Right angled. (ww=rror)
xiv.  The dimension of one side of the inclined surfacecanbe  projected on the reference plane.
(7 w= % T TrEe S A Sy aW W wafua foram ST wehar 1)
(@) Indirectly (srverera:) (b) Equally (wwmaa) (c) Directly (seazra:) (d) Normally. (wmr=ra:)

Xv.  The objects that are symmetric can be shown affectively using this type of Section
(are =g it wmfirdtr @ At S R gRr el ®9 & gwiter ST EeRd § ?)
(@) Quarter Section (b) Half section (c) Full section (d) Symmetric section
(Sfterg #71e) () (et =12) (emfirdra #1e)

xvi.  The static load is defined as the load acting on the bearing when shaft is.....
(St sitee - - & o forafer W i i 1 fRefas wr & &9 § gftarfya fomar smar 21)
(a) Stationary (ferfte)
(b) Rotating at rpm < 10 (10 =@ey/fime & &a i 7 o 57 @1 )
(c) Rotating at rpm < 5 (05 =@ert/firte & %1 3 TIfd T oW @)
(d) Rotating at rpm < 15 (15 =@@ / fie & &a &t 7fd W 97 )

xvii.  In First angle projection, side view looking from left comes to elevation.
(rerm <R1oT yEuoT §, S @ 3@ W A5 39 3fEaT T 21 .)
(@) Left (af) (b) Right. (arfew) (c) Below (=) (d) Above (=)
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XViil.

A regular cone is being cut by a plane which is parallel to the axis of cone, the section formed will be
like -
(u= frafira 3 1 O T S 9% % 37 % AWM 8 % S&RT 1T TR &, STH ST o T 2|)

(a) Ellipse (d=aa) (b) Hyperbola (zfawaer)  (c) Circle (3:) (d) Parabola. (yaw)

XiX.

The most common geometric form used in gears today is
(5= & fer # sHagd sTcaftis am sanfifas AR Frar 1)

(@) Involute profile (b) Convolute profile (c) Base circle (d) Spur circle
(saitese Sreer) (it et ) (s o) (¥ )

XX.

(a) Rolled (e w =t g=) (b) Spinned (=)  (c) Moved (Rawsrar gam) (d) None of these (z7 & =1g &)

Q.2

Q.3

Tail Stock of a lathe machine can be on the lathe bed.
(T S/ W Sy A % T Wi AT ST Tl B1)

Group (B) (7w -=f)
A right regular pentagonal pyramid, side of base 30mm and height 60mm rests in H.P. on its
base with one of its base edges perpendicular to the V. P. Draw its principal views and add its
primary auxiliary plan on an AIP (Auxiliary Inclined plane) inclined at 30° to the H.P.
(e Twhior frrafia gt frfire, fomes e o forma 30 fir. . et F=rg 60 firsfh., &fow e w s wem feer () 2 6
THHT R 33T T o e ¢l 36 9 gl 1 Wie AR afast 9 § 30 W gk e ok adt (T AT, W) T 5Eeh wmend
BERECRIE LI

OR (3teram)
A vertical square prism base 60mm side has its Faces equally inclined to the V.P. It is completely.
penetrated by another square prism of base 30 mm side, the axis of which is parallel to both the
planes and is 6 mm away from the axis of the vertical prism. The faces of the horizontal prism are
also equally inclined to the V. P. Draw the projection of the solids showing lines of intersection.
(e 60 et AT o aTet TieRr s o weteh Se8 det § §HH &9 & 7 21 30 Hi Srar o e wh gaw s sy
TEet fireH # ot FUOT 9 YRR HEAT @ T SHeRT 161 I a o SR © 3R 3au fiIeW % o7et & 6 it ger ger &fast fiew
oteh ¥ 3aU T | THH 9 A4 8 | Areesad W@ quid g 31 o VA Ei|)

Draw the development of the lateral surface of lower part of the hexagonal pyramid of bas base
40mm as side and 75 mm height, the pyramid is cut by a section plane parallel to the base and
perpendicular to V P and cutting the pyramid at 30 mm above the base.

(T wemnivii fiarie ok e &1 formr 40 Hivft vd Samg 75 #ift 2, i v T wiF ST SR o SHHI=R 37 380 ad o

Sverar e fofire & e & 30 Hieft Fw Frear & af frrie o feet Wi o ard Tag 1 faewme @)

OR (areram)
Show conventional representation usingSp-46-1988 of the following:
(A) materials: (B) processes.
(i) Bronze (i) knurling
(if) wood (i) counterbore.
(iv) Glass
(wao dto-46-1988 o s1ew fwifera w1 aridiias fewor g=mid [-)
(37) et SRR
(i) =itst (i) fefm
(i) weret (i) =rReER
(i) =

10

10

10

10
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Group (C) (v - #)

Q.4 Details of a Machine vice are shown in figure 01. Assemble the components and draw the following 30
views and show the dimension:

a) Elevation b) Plan
(femr g -01 & AefiA aTed o STaai ohl TT-3TT aeMaT T 8] aft st Sie & ffafad g @i ue et s
GRS

37) sfeam ) srgfer )

Figure of
gZaTTr o
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OR (ereram)

Details of a Tool Post are shown in Figure 02. Assemble the components and draw the following
views and show the dimensions:

a) Elevation b) Plan

(Fert wia -02 # g 9 o STaeal ohi STTHT-STCT SRIET 7T 2| BT SHerai ot SIS L FfcTiad g9 =l Uet Smret i awiii-

37) Sfszam ) e )
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